Math 130 Spring 2009 Name:

QUIZ #3 @ 90 points

Write neatly. Show all work. Write all responses on separate paper. Clearly label the exercises.
1} Solve the following system using matrices: Gaussian elimination or Gauss — Jordan method.

2x+y—z+3w=0
3x-2y+z—4w=-24
X+y—z+w=2

X—y+2z-5w=-16

2y Let
(2 1 0 I 1 3 21
; 1 6 -7 ,
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| 2 1 3,
L0 5 -1 10 -l 302

Mo the following operations. If not defined. sav so and explain why.

) 34+ R b) AB . ¢) AC d)y AD

) Graph the solution set of the following system of inequalities. Then find the coordinates of the vertices (if i
y—logx <0
x+y<4
y=-2

1) Let 18,6,2,... be a sequence. Answer the following:

a) Is this an arithmetic sequence or a geometric one? If arithmetic, find the common difference. 1 gecmetrio, 4
e common ratio.

b) Find a formula for the general term «/, .

¢) Write the sum of the first 50 terms using sigma notation and find the sum.
d) Find the infinite sum 18 +6+2+ .. .

=} Find the sum of the first 1000 natural numbers.

) Find a fraction representation for the rational number 1.243
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